] {’;:\-s O
=

four decimals, order of operations with brackets

6.1-43(43—-4)=

44+2)x39+4=

(43-29)x67+5=

(6.6+35)x2.7+22=

(58— 5)x23+6=

Date: Score:

2022~ 3.4)+4 =

24(4.4—2.8)+ 6=

(3.7-42)x52+62=

3.7-6(3.5+5)=

(6.6—4.7)x4—3.7=

www.snowmath.com



https://www.snowmath.com

A _ O
=

four decimals, order of operations with brackets

6.1—43(43—-4)=481

(4.4 +2)x 3.9+ 4= 2896

(43—-2.9)x 6.7+ 5= 1438

(6.6+3.5)x2.7+22 = 2947

(58— 5)x23+6=784

Date: Score:

2022 34)+4=—6

24(4.4—2.8)+ 6= 6.4

(3.7—-42)x52+62=136

3.7—6(3.5+5) = —47.3

(6.6—4.7)x4-37=39
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